

$$\int (f(x) \pm g(x)) dx = \int f(x) dx \pm \int g(x) dx$$

$$\int k \cdot f(x) dx = k \int f(x) dx$$

$$\int e^x dx = e^x + C$$

$$\int x^a dx = \frac{x^{a+1}}{a+1} + C$$

$$\int \frac{1}{x} dx = \ln|x| + C$$

$$\int a^x dx = \frac{a^x}{\ln a} + C$$

$$\int e^x dx = e^x + C$$

$$\int \sin x dx = -\cos x + C$$

$$\int \cos x dx = \sin x + C$$

$$\int \frac{1}{\cos^2 x} dx = \tan x + C$$

$$\int \frac{1}{\sin^2 x} dx = -\cot x + C$$

$$\int \frac{1}{\sqrt{1-x^2}} dx = \arcsin x + C$$

$$\int \frac{1}{1+x^2} dx = \arctan x + C$$

$$\int e^{ax} = x \ln x - x + C$$

$$\int \frac{f'(x)}{f(x)} dx = \ln |f(x)| + C$$

$$\int f'(x) f(x)^a dx = \frac{f(x)^{a+1}}{a+1} + C$$

$$\int f'(x) \sin f(x) dx = -\cos f(x) + C$$

$$\int \frac{f'(x)}{\sqrt{1-f^2(x)}} dx = \arcsin f(x) + C$$

$$\left(\frac{f}{g}\right)' = \left(\frac{f}{g}\right)'$$

$$\frac{f'g - fg'}{g^2} = \left(\frac{f}{g}\right)'$$

$$f'g + fg' = (fg)'$$

$$f'g = (fg)' - fg'$$

$$f'g = (fg)' - fg'$$

$$(f \cdot g)' = f'g + fg'$$

$$\frac{f'g}{g^2} = \left(\frac{f}{g}\right)'$$

$$(f \cdot g)' = f'g + fg'$$

$$\frac{1}{1+x^2} = \arctan x$$

$$\frac{1}{1+x^2} = \arctan x$$

$$\frac{1}{x^2} = \log x$$

$$\frac{1}{x^2} = \log x$$

$$\frac{1}{\sqrt{1-x^2}} = \arcsin x$$

$$\frac{1}{\sqrt{1-x^2}} = \arcsin x$$

$$\frac{1}{\cos x} = \sec x$$

$$\frac{1}{\cos x} = \sec x$$

$$\frac{1}{\sin x} = \csc x$$

$$\frac{1}{\sin x} = \csc x$$

$$\frac{1}{x^a} = \log x$$

$$\frac{1}{x^a} = \log x$$

$$\frac{1}{x} = \ln x$$

$$\frac{1}{x} = \ln x$$

$$2. \quad y' = f(y^2) + g(y) + h$$

$$u' = (g + 2v \cdot f)u + fu^2$$

$$(y = u + v)$$

$$3. \quad y' + ay = g(y^2)$$

$$u' + (1-x)gu = g(1-x)$$

$$u = \int \frac{1}{x} \quad y = u \frac{1}{x}$$

$$4. \quad y' = \frac{ay}{y} + g$$

$$x = \frac{y}{ax} \quad y = u \cdot x$$

$$= e^{-x} \int g e^{x-1}$$

$$y' = u'x - u$$

5. $y = \dots$

Képlet:

Sétválasztás: $y'(x) = f(x) g(y(x))$

meg: $\frac{dy}{dx} = f(x) g(y)$

$$\frac{dy}{g(y)} = f(x) dx$$

$$\int \frac{dy}{g(y)} = \int f(x) dx$$

$$y = \dots$$

Váltakozóan homogén: $y'(x) = f\left(\frac{y(x)}{x}\right)$

meg: $u(x) = \frac{y(x)}{x}$

$$y(x) = x \cdot u(x)$$

$$y'(x) = u(x) + x u'(x) = f(u(x))$$

$$u'(x) = \frac{1}{x} (f(u(x)) - u(x))$$

Elsőrendű lineáris: $y'(x) + f(x) y(x) = g(x)$

$$y'(x) + f(x) y(x) = 0$$

Bernoulli: $y'(x) + f(x) y(x) = g(x) y(x)^\alpha$

meg: $u(x) = y(x)^{1-\alpha}$

$$y(x) = u(x)^{\frac{1}{1-\alpha}}$$

~~meg:~~ $u'(x) + (1-\alpha) f(x) u(x) = g(x) (1-\alpha)$

Riccati: $y'(x) = f(x) y(x)^2 + g(x) y(x) + h(x)$

meg: $y = u + v$

$$u'(x) = (g(x) + 2v(x) \cdot f(x)) u(x) + f(x) \cdot u(x)^2$$